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Inference Conditions/Assumptions

Means:
Sigma known: 1-sample z-test: 1) SRS (and/or data is from a randomized experiment)
' ' ~2) Sampling distribution of xbar is normal, meaning n > 30 or

‘population
is normal.

- 2-sample z-test: '*%) indeliendent SRS’s (and/or data is from a randomized experiment)
2) Sampling distributions of xbars are normal, meaning both n’s > 30

or
populations are normal.

Sigma unknown: 1-sample -test: 1) SRS' (and/or data is from a randomized experiment)
2) Sampling distribution of xbar is normal, meaning n > 40, orn >

15
with no outliers or strong skewness, or population is normal.

2-sample #-test: 1) independent SRS’s (and/or data is from a randomized experiment)
2) Sampling distribution of xbars ‘are normal, meaning n's > 40, or
n’s > 15 with no outliers or strong skewness, or population are
normal.

Matched pairs #-test: ~ 1).SRS (and/or data is from a randomized experiment)
2) Sampling distribution of xbar of differences is normal, meaning
n > 40, or n > 15 with no outliers or strong skewness, or
population .
is normal.

Proporiions .
I-sample z-test 1) SRS
2) population is at lest 10 times larger than sample.
3) np and n{1-p} > 10

2-sample z-test 1} independent SRS’s
2 population is at lest 10 times larger than sample.

3) for both samples, np and n(1-p) > 5

Chi-Square 1) independent SRS’s (and/or data is from a randomized experiment)
2) all expected counts > 0 ‘

“3) no more than 20% of expected counts < 5

Linear Regression \ .
Linear regression z-test: 1) observations are independent

h : 2) relationship between variables is linear
3) standard deviation of y’s is the sarne for all values of x

4) y varies normally for all values of x







